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A 230
M Qosd BS(8EES/TH)
el ANgEd 2 Pl
= X xH Ctol (o (=] o HASZ OH I‘—-IL‘EE =2t
SN B SA(SH) - NRAY - B ahoH 0l &t o =E
— T

—ZRMA AUHS(P KHIHZ ALY
X ERE) 150,000 * 12 X| 150
02 22| 25,000 25,000 0
OA&EBI S 25,000
—GtEE ZASHAIL S S22
20,000,000 20,000
—BIZIZ0| ME{ZY RXel 5,000,000 5,000
401 Al EHIL 20| 2,500 2,500 0
01 Al&H| 2,500 2,500 0
OXNeI2SE HEEX B
500,000 * 544 2,500
OHME - A2E5ESE X 55, 100 36,750 18,350
201 et | 700 2,850 A2,150
01 AtR 22t 700 2,850 A2,150
OYprag| 700
—OFMEE 2i0|F)| 22 7 700,000 700
202 01 2,400 2,400 0
01 2UH0i | 2,400 2,400 0
ORMNOIMSS MoHKIS ZA L L2 HeH
e 20,000 * 2% * 53] * 122 2,400
206 i 2 bl 2,000 1,500 500
01 HZ 2,000 1,500 500
OX&D| orsE 9ol 7 2,000,000 2,000
301 YprR AR 30,000 10,000 20,000
2JIE 2 A3 30,000 10,000 20,000
ORMOFMS 20 o8t S&S TIoH2 A
30,000,000 30,000
307 2120 & 20,000 20,000 0
02 QI2tF A B & 20,000 20,000 0
OOtME - Al285aH XE 20,000,000 20,000
OFMES I GH0I A 23,580 9,600 13,980
= 11,790
= 5,895
= 5,895
402 212t X2 0| 23,580 9,600 13,980
= 11,790
= 5,895
= 5,895
01 222 = 23,580 9,600 13,980
OOFMSS T/l 0l 2 A2 23,580,000 23,580
= 11,790
= 5,895
= 5,895

w




fA 23
M NoEd B5(EES/XY)
& HHEd 23 CEREE
- _ _ b E ==
S ED .S (B0) - NRAY - BAS 0f b T HDS2
—EHE3Z=2S =4 4,260 4,260 0
201 L2 4,260 4,260 0
01 AtR 22l 4,260 4,260 0
Ogt=2H| 4,260
—S=92 M 70,000 » 604 * 3=l 1,260
—IEHHEZ2s 28 72 (0tH, A, &=
3,000,000 3,000
MEH - Z2ABHX G 2 100,000 100,000 0
S 100,000
101 212 dl 70,475 68,369 2,106
S 70,475
04 JIZHH 22 NHSE+ 70,475 68,369 2,106
OMEZA=L 2 21,321
-8y 37,110 = 498 = 27 » 5& 20,040
= 20,040
—=28= 20,040,000 * 2.4% 481
e 481
— /=4 200,000 = 4H 800
S 800
OHMENE A2 =l &0t 2 27,606
-8 41,000 = 29 = 272 » 128 26,568
< 26,568
—288 S 26,568,000 * 2.4% 638
S 638
— /=4 200,000 = 2H 400
S 400
OXgsisd HM=&g 21,548
— QI8 37,110 = 38 = 27 » 78 21,042
< 21,042
—288 s 21,042,000 * 2.4% 506
< 506
201 L2 29,525 31,631 2,106
< 29,525
01 AR 2telH] 6,240 6,640 A400
Ogt==2H| 6,240
—28=8 7Y 300,000 » 123 3,600
S 3,600
—MESEHAI2 RATHANAY S
220,000 = 128 2,640
= 2,640
02 S22 23,285 24,991 A1,706
OZ332=2LHAl 7,200
—dEEAI2 S IS 500,000 * 128 6,000
e 6,000




SA: BB
M OB P5(BF2S/NQ)
ool MeiEy 25 (Etel: &8
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
—MEYMAIZ S SARZ 100,000 * 12 1,200
= 1,200
OAlEZHIRX bl 16,085
—TteIsEe S AIZKXBel 16,085,000 16,085
= 16,085
MEAH DB OFMAZ(HZAYNE S) SXAY 21,000 21,000 0
= 6,300
= 14,700
101 21 24| 21,000 21,000 0
= 6,300
= 14,700
04 JIAR2ERSE 21,000 21,000 0
OSHZAHXZE XA Q122 21,000,000 21,000
= 6,300
= 14,700
OHMSSAE - X2 6,000 2,000 4,000
= 1,800
= 4,200
301 YerR A 6,000 2,000 4,000
= 1,800
= 4,200
12 B2 43 6,000 2,000 4,000
ONMEE NEHR 29 6,000,000 6,000
= 1,800
= 4,200
+HEY SH(BABS/NGHEE - 2 F) 368,863 416,683 47,820
Z=3ma ool 207,422 206,269 1,153
ZEsma pe 170,422 169,069 1,353
101 21248 27,362 26,009 1,353
04 JIAR2E2RS 4 27,362 26,009 1,353
OZ=s™a pel o=y 27,362
—olg 37,110 » 10% » 122 = 62 26,720
-282 26,720,000 * 2.4% 642
201 2Bre Y| 56,060 56,060 0
01 Ak 22l 13,500 13,500 0
Oger+g| 12,000
-3ZESFA 2 2Y 500,000 * 128 6,000
—BESIBA 2 500,000 * 122 6,000
oYtz 1,500
—getE 210/3FA YR 500,000 * 35 1,500
02 BB 42,560 42,560 0
OZZR2LHA 28,560
—-BZEsFA MRS 1,730,000 * 128 20,760
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SA 23
B 2ABA OH(BALS/NGLE - 2F)
el =E22Y oY (9 E2
S E O (EH) - MBAIY - B Of o e Hl R =2
— &= 72 2,000,000 * 12 2,000
OXt& & 8| 55,000
—S385H, §AH(3H) 55,000,000 55,000
202 odl 4,800 4,800 0
01 SLHA b 4,800 4,800 0
O=&EHAID ML SH=01t]
20,000 = 2% = 10 » 12& 4,800
401 AIEHIZ 2] 20,440 20,440 0
01 A& HI 20,440 20,440 0
Od=RsMYIl =H 2 Hel 20,440
—2A=Hol=2 Ml 50,000 * 200m’ 10,000
—=SgHJNE Hdeal 116,000 *= 90m’ 10,440
MetZol 22l (BBES/U01) 484,400 196,544 287,856
= 209,000
& 121,565
= 153,835
B2 ofgt 484,400 196,544 287,856
= 209,000
& 121,565
= 153,835
SELA=ZE HISAMEE 2l 23,270 18,944 4,326
201 Yot | 17,230 14,344 2,886
01 AR 2teld| 17,110 14,224 2,886
Ogt=ZH| 17,110
—gus3XNA0l |= 1,000
AT HH 3,000 = 10074 300
HZANZ0IE MA 7,000 = 10074 700
—EAQAME T AN AEMF =S
450,000 * 1090 & 4,500
—M=8 2 920
PoaM=H(40) 80,000 * 4&8rA 320
selg(2) 60,000 » 108+A 600
-S| BEZA =2 640
L2BHSEHD| 50,000 * 3CH 150
BHEJASE D] 170,000 * 13| = 2CH 340
HHA=&EE HICI2ot0 2 150,000 = 1CH 150
&I AR 72 2,050
BHEIIASE DI 400,000 * 2CH 800
-HA=HE HICI23t0et 70,000 = 5CH 350
e EE S 300,000 * 3&8fA 900
—IIISEANEHF E4
200,000 * 4004 2 8,000




SN
X XH .
S Tt

el

(BHEES/UDI)

o 0y &

rior oz rioe
M Ml oY
ijop=t

2w
0z [

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- co=m s IR ° . (= (=3 =5 0:”/|l|,% Lsa
02 E=2gHl 120 120 0
O332= & AMA 120
—RoUFEED| Sts 10,000 * 12& 120
202 0dl 5,040 3,600 1,440
01 2LHA b 5,040 3,600 1,440
OSZZ=E HHEMSE S50
20,000 » 3% » 7 » 12& 5,040
301 et A3 1,000 1,000 0
12 J|Et2 432 1,000 1,000 0
OtZdEie ANEaza 50,000 = 20 1,000
M=AHU EXIX2 A 12,600 12,600 0
= 9,000
& 1,800
i 1,800
402 212t X201 A 12,600 12,600 0
= 9,000
& 1,800
= 1,800
01 It 22X 12,600 12,600 0
OM=sAHU SXIX&(2902) 12,600,000 12,600
= 9,000
& 1,800
= 1,800
ISR SFI|=XN2HH X3 20,000 15,000 5,000
& 6,000
i 14,000
307 2I2tol ™ 20,000 15,000 5,000
= 6,000
= 14,000
02 QItFAE X 20,000 15,000 5,000
OtZII=XNJdH K& 20,000,000 20,000
= 6,000
= 14,000
o1gsda g2 22,000 0 22,000
& 11,000
= 11,000
201 B2 HH| 22,000 0 22,000
= 11,000
= 11,000
02 2224l 22,000 0 22,000
OWIIE=EHL RX2tel 22,000,000 22,000
= 11,000
= 11,000
OtETISl= JHE0E| 5,000 0 5,000
& 2,000




SN SR
Hu: MBIl 2ol (BFES/HI)
Sel B oY

SA - =BG (3) - MR A

o .

=

el

0x
i

22
J2

20
B
2

M

3,000

M H1

5,000

2,000
3,000

5,000

5,000,000

U

5,000
5,000
5,000

2,000
3,000

5,000

H W

400,000
200,000
100,000
100,000

400,000

401 AIEHIZL S THYI

H

400,000
200,000
100,000
100,000

400,000

O
rig
0¥
0x
1]
rig
=
0z
e
o
x
o

ox
A
rige
2
0
e
o
x
m

nx

nx

[

g

390,000,000

10,000,000

M

H

390,000

390,000
195,000
97,500
97,500
10,000

10,000
5,000
2,500
2,500

390,000

10,000

SOl 2SS0 AL

U

1,530

765
765

1,530

EURCH

1,530

765
765

1,530

1,530,000

Ml

1,530

1,530

765
765

1,530

HOI2 HMel & MHasHEBES/HDI

=

)

H MW

5,793,402
463,800
543,500

4,786,102

13,126,224

AT,332,822

HII=22 HE X

W

2,300,251
12,000
14,000

2,274,251

3,330,050

A 1,029,799

1,832,000

2,902,000

21,070,000




A 230
M HOIE Mel € NA(SZES/HIIS)

&2 HolZe BHE XMl (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
201 et A | 2,000 2,000 0
01 AR 2t eld| 2,000 2,000 0
Oget=gH| 2,000
—MEHIIS QASSATINAN BELSE
1,000,000 » 2A 2,000
207 & IHEH| 30,000 0 30,000
01 A1E | 30,000 0 30,000
OFEARIAL 24 25,000,000 25,000
O&EAE2Y MHIA HIt 89 5,000,000 5,000
307 21Ztol 1,800,000 2,900,000 21,100,000
05 BIZtRIE S 1,800,000 2,900,000 1,100,000
OMEHIIES =2 AIY  1,800,000,000 1,800,000
Mol SEEI| 2A E oo 124,656 150,833 AN26,177
101 @1 24| 49,022 46,599 2,423
04 JIZHNIZ22 XS E+ 49,022 46,599 2,423
oMl 28SI HE o= 37,621
—QoIFe 37,110 » 118 * 90 36,739
—E2&8= 36,739,000 * 2.4% 882
OoMgDl 2YSI| ZAIIH0 2E2xR 11,401
-2 37,110 » 198 = 25 * 12& 11,133
—=28g= 11,133,000 * 2.4% 268
201 L2 30,534 31,134 A 600
01 AR 2t eld| 150 750 A 600
Oget=gH| 150
—HEMNEHE HAAFT HER =LSX
3,000 » 5024 150
02 2324l 30,384 30,384 0
OZ222=LHA 12,384
—S-HSI| 2AIt0He HIIR=
3,000 = 24CH  12& 864
—=YHEI| ZAI3tHe FEAMEE
40,000 = 24CH  12& 11,520
OAl & &I Xl 18,000
—S"8SI| ZAIt0Het RX2e
750,000 * 24CH 18,000
202 o4l 3,600 3,600 0
01 =2 AbI 3,600 3,600 0
OHJIZ2 289SI &= 0t
20,000 » 3% » 5& » 128 3,600
301 et a3z 1,500 1,500 0
12 J|Et2 43 1,500 1,500 0
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SA: SFn
MM HII2S MHel ¥ NS (BEES/HIIZ)

ool Hol2o XY Hel CEERE
SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS
OoMdgDl S8SI 4l Za= 30,000 » 50A 1,500
401 A& HIZ 2 CHYI 40,000 58,000 218,000
01 A& HI 40,000 58,000 A 18,000
O="8 I ZAlIzthet Ol & X
1,000,000 = 5CH = 23l 10,000
O2Y ZXHII= HMal 30,000,000 30,000
Fazel 303,595 277,217 26,378
101 21 244| 70,095 75,717 Ab,622
04 JIZtHIZ22XSE+ 70,095 75,717 Ab,622
CHEARY 2HEXA( ~ 6d) 3,882
-2 37,110 » 198 « 25 « 48 3,711
—BEz 3,711,000 * 4.6% 171
OLHHAX 2B TA(7 ~ 118) 19,409
—oIRY(FELY TE)
37,110 » 4 » 25 » 53 18,555
—23z 18,555,000 * 4.6% 854
OotdH M Dls=AHAY 2 46,804
—oIRY(FELY IE)
37,110 » 298 * 65X » 252 » 43 44,532
—2&z 44,532,000 * 5.1% 2,272
201 et A | 197,500 178,500 19,000
01 AR 2t eld| 197,500 178,500 19,000
Oget=gH| 191,500
—ZSZH RA2ESE MEH(128)
125 = 1,500,00004 187,500
—HEHIIE2 =8 RES 2AEH HH
400 = 10,0000H 4,000
Oogx= 6,000
— a3t & MBEAX YA 6,000,000 6,000
206 =l 12,000 9,000 3,000
01 =4l 12,000 9,000 3,000
OLHHAXNH2E MEFL(BHEHH2 12
E) 12,000,000 12,000
401 A& HIZ 2 CHHI 10,000 0 10,000
01 A& HI 10,000 0 10,000
O=oliAdDl Hel 10,000,000 10,000
405 RHebFE S HI 14,000 14,000 0
01 XML EFHSHI 14,000 14,000 0
OHUINZH AAES ST = (14Z)
14,000,000 14,000
L= £Y0IE HMel KA 40,000 0 40,000
= 12,000
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SN

X ZH
o=

s$3
D HIIE Mel ¥ KRS BHEES/HIIE)

&2l HolE2 HE Hel AR
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod i 2
& 14,000
i 14,000
307 QI2tol ™ 40,000 0 40,000
= 12,000
& 14,000
= 14,000
02 Sl2tF &8 40,000 0 40,000
OL% &dI0IE Ml K& 40,000,000 40,000
= 12,000
& 14,000
= 14,000
HII=2l Xt& 3t 74,193 58,450 15,743
= 1,800
& 4,500
= 67,893
HOIZ2 HES 33,000 33,000 0
201 ZEt2FH| 30,000 30,000 0
01 AtR2tel 30,000 30,000 0
Ogt=ZH| 30,000
—MEE AZ0H M 250 = 80,0000H 20,000
—HJI2 22l 2= W& 10,000,000 10,000
401 A& HIZ 2 CHYI 3,000 3,000 0
01 A& HI 3,000 3,000 0
OoMg=ss 2cl=Hg &x 300,000 x 1042 3,000
SEHHYEY =HEdA3 15,000 15,000 0
& 4,500
= 10,500
301 et a3z 15,000 15,000 0
& 4,500
= 10,500
12 J|Et2 43 15,000 15,000 0
SEHHIE=HEHAS 15,000,000 15,000
L= 4,500
= 10,500
UsZH 23 24,393 10,450 13,943
101 eI24d| 12,193 0 12,193
04 JIZtHZ22HSE+ 12,193 0 12,193
Ous&H 22 12,193
QR (FELY TH)
37,110 » 198 = 26 * 128 11,133
—2+AlH] 3,000 » 1€ » 222 » 123 792
—23z 11,133,000 * 2.4% 268
201 et2Ad| 12,200 10,200 2,000
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ol GEESME 2 (et & 2
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
—E8E &A0tA P2 10,000 = 10 100
—ANSRA Hatx FAa 10,000 = 10& 100
—NE=HH ASUHRE &S
150,000 = 12& 1,800
o2g=¢ 24,660
- 24,100
=24 50,000 » 1 * 366 18,300
R 50,000 » 1 * 116 5,800
—JIZH224 M2 28 A=Y
70,000 * 29 * 43| 560
o=l 1,000
—&g=sE Y oHEEH 2 200,000 » 59 1,000
O= ekl 2,000
— N =SdEH 2E 0fA2Z R 24
2,000,000 2,000
(@) PN ¥= 36,000
—JI2tH22X S2HA S
3,000,000 = 1CH » 12 36,000
02 2324l 138,700 138,500 200
O3 2a3LAA 74,450
— A Z A 3,000,000 * 12| 3,000
—XAE=gHEH dJI=2 5,000,000  12& 60,000
—&J|etM 2te| Hel===3 800,000 » 12 9,600
—REYS A 50,000 » 12& 600
— XX SESEEE 500,000  1CH 500
—XAX HIIBME 150,000 = 1CH 150
—EANERgS(AEE) 300,000 * 23| 600
Ozl 5,600
—HEsHdEE 2 5,000,000 * 1JHA 5,000
—Zels tAR=s 50,000 » 12& 600
OAIE&EHl XYl 30,750
—HEsHEE 23 20,000,000 20,000
— L CCTV =Xl &tel 750,000 * 9IH A 6,750
—2AZ JHRR(T2AA, 2Y) D
1,000,000 1,000
—HA=I| L AEIZS 2EI| RA2e
1,000,000 » 3CH 3,000
OXtete gth| 15,400
— XA Xt 7,700,000 = 2CH 15,400
OZREE Hay22& =] 12,500
—2dZ&d S 2A=H| 500,000 » 25% 12,500
206 M= 4l 8,800 4,800 4,000
01 =4l 8,800 4,800 4,000
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S BAY
FH: HIIE Mel ¥ NHESHSEES/HIIS)
ool TR HMEH 29 (pel @
S BB SR (B) - NEAY - BAS 0f & o Soe DB
O&= 7Y 400,000 » 128 4,800
Og=HJl oddasd 2,000,000 » 2& 4,000
401 AIEHIZ S HYI 52,000 30,000 22,000
01 A& H 52,000 30,000 22,000
OSSMHEELHEANE K2 30,000,000 30,000
OXNE =gl &% 5= 3A 22,000,000 22,000
405 Xp&HF SHI 1,700 0 1,700
01 A =S HSHI 1,700 0 1,700
O®EIIgE(AY) 200,000 = 1CH 200
OZXd&EN(AE) 1,500,000 = 1CH 1,500
HIIZMEXN 2 218,540 189, 140 29,400
201 L2 Y| 85,840 84,340 1,500
01 AR 2telH] 40,080 38,580 1,500
Oget=2H| 37,080
—ANSESSMHEXN ELLIHA ===
2,500,000 * 2JH A 5,000
—0HEX =8 EZIAMN == 22,480
Aot 8, &=+ 2
160,000 * 100HA = 123 19,200
- Not==Hi Kl 1, L =SHHKI= 1
160,000 * 204 * 42| 1,280
KNz 2, SMIA 3
100,000 * 5K & » 422| 2,000
—&&+ sd X Heldl 10,000 » 60& 600
—HEX =&Y 3,000,000 = 33l 9,000
ogxs 3,000
—SsS8HIZX= 3,000,000 3,000
02 3244 45,760 45,760 0
OZ2Z23 A 2,500
—SEEE= 1,900
- =4 700,000 = 1CH 700
-HEsS(82EY) 1,200,000 = 1CH 1,200
—dJldAz 200
=210| 100,000 » 1CH 100
HEst=(8EE™) 100,000 * 1CH 100
— A S XA 200,000 = 2CH 400
OAl£2&Hl =gl 13,100
—EBEHeAE Js X2l 4,000,000 4,000
—NEAE S 2 500,000 500
—2CtH OHEX =382 S22
900,000 * 2 * 23] 3,600
—HZAIE |X2el 4,000,000 4,000
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1,000,000 1,000
OXtg & el 30, 160
—=4)] 16,500,000  1CH 16,500
—HEsES(EZEy) 13,660,000  1CH 13,660
206 T 2 4| 52,700 52,700 0
01 =4l 52,700 52,700 0
OfYER otHxd 28 ¢ 5,000,000 5,000
OL=AZ(A4EH) 40,000 * 22/E * 903 7,200
o5 5N 50,000 » 50= 2,500
O=S&EM 60,000 = 600CH 36,000
ON&z gszs 7Y 10,000 * 200X 2,000
401 AIEHIZ 2 0hY| 80,000 50,000 30,000
01 Al€Hl 80,000 50,000 30,000
OkL® H&E+2E WHSAH300m) 50,000,000 50,000
QHIIZHEX A4 22t 30,000,000 30,000
HOIS It - A 2 112,828 220,895 A 108,067
101 @1 2d| 50,108 99,815 N49,707
04 JIZtH22HEES 50,108 99,815 A49,707
OAN&EH 29 28 49,308
—QIS (AL, F=HSY ZLE)
67,570 » 498 « 28 * 6& 45,408
—=28g= 45,407,040 * 5.1% 2,316
—2+HAH] 3,000 » 4% » 22 » 6 1,584
OJIZtHZ 2 A Tl =l 200,000 44 800
201 ZEt2FH| 23,700 33,100 29,400
01 At 22IH| 600 0 600
CETIES-= 1 600
—OHY - YENE SYSE 2
100,000 * 6& 600
02 2244 23,100 33,100 A 10,000
OZ2Z223LAA 600
—Z2R0 SEEEE 400,000 * 1CH 400
—Z2R0 HIIBME 200,000 * 1CH 200
(@) K=3:] 5,000
—IM - ESAE 29Y 5,000,000 * 1JHA 5,000
OA&EHl RXdl 12,000
— I - SAE 29 10,000,000 10,000
2B JIARF(FelA, 29) WE
2,000,000 2,000
OXtg & et 5,500
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_ _ _ Muo
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2
=220 5,500,000 * 1CH 5,500
206 T 2 | 39,020 87,980 48,960
01 T2 HI 39,020 87,980 48,960
OQLEMYI| (LYZSH 2,000,000 * 10 20,000
OYEMY)| EZRBE 60,000 * 300 8,000
ozgTY 170,000 * 62 1,020
MEBHIIZ HH2IALMBT) 2 910,600 0 910,600
201 Yyt bl 300,000 0 300,000
02 22| 300,000 0 300,000
OZZQILHA 300,000
—dIIR3 50,000,000 * 62 300,000
307 212+0| & 486,000 0 486,000
05 DI29IEt 3 486,000 0 486,000
OMEHIIS HH2IAL(BT) P2 A
81,000,000 * 62 486,000
405 Xt &S S HI 124,600 0 124,600
01 HAUSESHSHI 124,600 0 124,600
OXAHH(5E) 44,000,000 * 2CH 83,000
OYLELEA (25m) 6,100,000 * 64 36,600
HOIZH2l JIBAI &= 1,500,000 8,699,900 A7,199,900
= 450,000
= 525,000
2 525,000
HOIZ ®H 2l Al (MBT) & X 1,500,000 8,699,900 A7,199,900
2 450,000
= 525,000
2 525,000
402 QI K= 0| 1,500,000 8,199,900 6,699,900
3 450,000
= 525,000
2 525,000
02 BI2CHEH AL B 1,500,000 8, 199,900 6,699,900
OmJIZ ®HM2IAILMBT) &% 1,500,000,000 1,500,000
2 450,000
= 525,000
2 525,000
HH2AFY(BF D) (OIEH/IIEH 66,518 67,259 AT41
=B (23 ) 66,518 67,259 ATH
=l 66,518 67,259 ATH
201 Lut2 | 35,694 36,455 ATB1
01 AFR 22l ] 35,604 36,455 ATB1
oY+ 24| 30,894
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SA: BFD
Nz HNSHHHI(SHDL)(OIEHIIE
e J|2AH (2E ) (&te @
i} _ _ FSIER=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hon=s2t
—JIZ2ARE2E 2¢ 3,000,000 3,000
—SANEXRY (M) 25,300 * 128tA * 12€ 3,644
—SN2EETIY & HFEEE 22 2,000,000 2,000
—MAEAD| SX 22 3,450
EUIIERIX 450,000 * 3CH * 23] 2,700
S A 22 250,000 * 3CH 750
—oaig Xz 14,000
- EWILERIX 200,000 * 10CH * 33 6,000
cEHIERIR(ZH)
400,000 * BCH * 33| 7,200
T2iE 22 50,000 * 16CH * 13 800
—FAX EHZRY 150,000 * 2CH * 23] 600
—der)) AS 20,000 * 10CH * 123 2,400
—stPABNA M= 120 * 5& = 1,0000H 600
—EHBBHPA P 100,000 * 12Z 1,200
O] 4,800
—A2IRI22 X E20A 4,800,000 4,800
202 014 25,344 25,344 0
01 2ol 25,344 25,344 0
AR E=ZA D 24|
120,000 * 22 * 122 * 80% 25,344
203 YR =Xt 4,200 4,200 0
04 EA2HAREZAH 4,200 4,200 0
ORMNSIAR=AH(EA3 D) 350,000 « 12& 4,200
405 KHAHE S 1,280 1,260 20
01 ML 2EF S 1,280 1,260 20
OUI X2t et 400,000 * 1CH 400
O9 X} 180,000 * 4H 720
OolsSsMe 160,000 160
HESS (2 (BLAES/AGEE - 28) 1,612,046 264,600 1,347,446
WEAHHXS (&2 ) 234,000 264,600 230,600
LHEHH KIS 234,000 264,600 230,600
701 JIEIS HEE2 234,000 264,600 230,600
01 JIEISIHEE=2 234,000 264,600 230,600
OFHINEHELHFHFTSS (DO MSMAAA
X&) 234,000,000 234,000
BEXE 1,378,046 0 1,378,046
BEXE 1,378,046 0 1,378,046
311 Xt 20| XHAHEH 186,856 0 186,856
06 J|EHXHS 20| XFAHE 186,856 0 186,856
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SA 23
- =3
Mo RS (B (HTES/AGAE - 2T
o BEXE CEREE
= Rz . Ctol (5 AL . HA 2 A} OH &EIE - =
T}\—I.O_|.I_T|(2|j1|).}\-“_|_}\|-|:1.Lo_i 04|L_| 0:”/\|,o|.| I:”JJ—BCJ
— T

OHJIS®MelAlZ(MBT) &X SE2ell3 &

At Ol At &bst 186,856,000 186,856
601 A= =atet 1,191,190 0 1,191,190
06 JIEt =Xt =B =4 1,191,190 0 1,191,190
OHJIS®MelAlZ(MBT) &X SE2elN3 &
i ds o 1,191, 190,000 1,191,190
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